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In vaceum , all elactromegnatic waves have the same _L;_?J{ ol u.ﬁiga_@%}glrli‘;,ﬂ(xf: -1
wave length i@f; (D) amplitude 324 (C)  frequency WHE) (B) speed Ly (A)

The loudness of 2 sound is most closely related to ‘t‘:,-.tm;gfsw’l}u}_.?b’ufﬁfuﬁﬁf L -2
amplitude 1¢05 (D)  wavelength 5% (C) period L5 (8) frequency S (A)

Sneil's Law is ' % UIF KE .
n= sini (D) n= sinr (C) n= sini /sin r {B) n= sin r/sini (A)

Powar of fens is reciprocal of ; -ﬁ:.();{(;i ;:LJ/.{ -4
wave length J‘%s (D) focal point &I{J} (C) diopter }qﬁjl} (B) focal length EEJJ! (A)

Electric field lines ' smABLD s

never cross each other Gﬁfgﬁiﬁl. /,;4 (B) always cross each other ggO‘);::',‘E_ /u-..g (A)
* cross each other in the reg.ic_-n of strong field SOt gl Lt tBesls (C)
cross each other in the region of weak field u}M:ffg/m._ﬁquU&Lhﬂ( (D}

The rate of flow of electric charges is . : i /‘“dl Str;éi?.gkf/‘-gl -6
coulomb 4 (D) ohm (B (C)  volths (B) current 2 A

1 Kwh is equal to . e st 1Kwh T
' ’ 36MJ (D) 36p) (O 36KI(B) 38 J (A)

The stap up transformer ' L i B
increaseas the input voliage q..t'l.nfcfé'”..gwl {B) increases the input current q..bbxf._uf..;;gi (A)
' '. has meore turns in primary coil pﬁz.-ﬂfgu_l,.?ucd'?;[j/ﬁ{ (}/ {#3]
has less turns in secondary coiig)juzgﬁ’uﬁﬁfdzﬁ_? § (@)

if X=A-8, then Xis "1"when ._..al;rr{ 4 ol X I x=A-8/1 .9
A orBis0 B=LA=0 (B) AandBare 1, B=1.ulA=1 (A)
Aisi andBis 0 , B=0us A=t.(D) Ais0 andBis 1, B=1u1 A=0 (C)

The screen of a cathode ray tube consists of a material called —u!géé-aﬂ&l;‘.)‘j{h-gd}d’?ﬁ w3 10
' ; glass -4 (D) phosphor lﬁ’{i (©) iron T (B) zinc ol (A) _
: q-f)b%’(’f’:::{u"'uf -1
control unit ‘.*f:d;ﬂ’ (D) CPU ;{QU{{C} memory U< (B) monitor £ ;(A)'
PWEAD Y g 2T U1 .f_;zggug, AT Mgk 12

The brain of aﬁy computér system is

One of the isotopes of uranium is 235U . The number of neutrons in this isotope is

330 (D) 238 (C) 146 (B} 92 (A)

\
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Q. No. 2 Write short answers of any Five of the following 5x2=10 ?-_{;f.:-,;l!/‘?&..uulr éi. :_.L,d{_zjéﬂ'} 2 /‘Uff
? & et DfGma Jit LasP (0 s gES LI HEIEE O
m&ﬁd}‘ 332 .ggfﬁ:'f.ﬁufmflmﬁm‘jlf_ﬁ gufuﬁ:tjfr_u:.f_a;éuf}'ﬁ,& 1.5 LffVL{b;LrJJE»U’uJ&dPT )
._g..v.f(f.:{u"ﬁwi 55!31 4 Lur{c},guﬂ&:‘dﬁf." IJJHJJ;: -JL-_é'ga..é‘ /-L(Lﬁ!hﬂf-’-; (0) ¢ g_rLf_,a,Téf Rl S ()
'fu,ﬂtggfgﬁaﬁ_ﬁ)flhﬁ/u-rf e q.ﬁct:k’:wc:—rfd'ﬁdl-f-:vgc-d)"# (&) _zggg,yﬁrﬂr,,géf JJI’J:‘J[’L}{ &)

(1) How can you reduce the level of noise pollution? {2) How the depth of sea can be measured by ultra sound ?

(3) Flash of lightening is seen 1.5 seconds earlier than the thunder. How far away is the cloud in which the flash

has occured ? Speed of sound = 332 ms-1 {4) How shock absorber damp vibration 7

(5) Define restoring force in vibratory motion of simple pendulum , which éomponent of its weight acts as restoring force?
(6) Write any two Important features of simple hormonic motion.
(7) What is meant by far sightedness and how can this defect be correced? (8) Why convex mirror also called diverging mirror ?
Q.No.3 Write short answers of any Five of the following ~ 5x2=10 _ZzA=liz L et &} = utlits 340
¥ e SA LA LS pniid (M) 8 GrsusTads Ltz 1000 () a;,{_eﬂf SO (0§ et 208 0
¢ DL i tuhl (A) S :w’; Fhifie (2 _a:“u)m’d 0 e T8z (0
(1) What is meant by dielectric ? (2) Define a variable capacitor. (3) How many watt-hours are there in 1000 Joules ?
(4} What is the difference between a fuse and a circuit breaker ?
(5) State Joule's law .Write down its formula.(6) State Lenz's law. (7) What is meant by the term Mutual Induction
(8) What is difference between step-up and step-down transformer ? .
Q.No.4 Writeshortanswers of any Five of the following 5x2=10 . é;;’..—.,gr,zﬁ’{.amr él',a.dd_jfw 4/&}‘:’
-q’{;fwﬂﬁ’watjfﬁuﬁbl P )?’:/ r) ¢ LJ’-L-;J‘HJL)L}A{’JE ;G-ML;J Wt S gf (0 ¢ 4_@1_,@: DAC af ADC ()
o fetl @D Seipfe P f‘)-é{/{fuﬂﬁ-l ¢ VPP () OA LAt ()
te OV ANS U 2L (A)
(1) What is the difference between ADC and DAC ? (2) Name two factors which can enhance thermionic emmission.
(3)Write any two uses of cathod ray oscilloscope. {4) What is difference between hardware and software?
(5) Define fax machine.Write its functions also. {6} What is meant by nuclear transmutation?
(7) Write two characteristics of Beta (B) particles. (8) What is difference between atomic number and atomic mass number?

(PART Il ) p33 doan

NOTE : Attempt any Two questions from this part 9x2=18 2 ;f;;lﬁimurn;a.dfa.uﬁ,‘%ﬂ O
.4 &K rShimn S ey Azt (A5 A
Define simple pendulum. Prove that the motion of a simple pendulum is simple hormonic motion.
5 : gAY e g8 om HES LA @)

A convex lens of focal length & cm is to be used to form a virtual 1mage three times the size of the object,

Where must the lens be placed?
4 A E Yo PO e B fr g () 6 Ay
Describe the important characteristics of the series combination of resistors and also derive formula for equalent resistance.

5 -é{'}"pﬂfw};&d}&rw} J:{-Ji_m&ul_g_géiq}_‘.lié 150 cm gy = 5pc » qq =10 e Zspwdlisn (B)

Two points charges q, =10 pcand ;=5 pc are placed at a distance of 150 cm .What will be the Coulomb's force

between them ? Also find the direction of force.
4 - 4!?;1;& ABIFS s Sk ;:Lf,udvl;,,r:&}.pmzf S SILS DS St () -7 A
Differentiate between analogue and digital electronics. Write down the names of two analogue and two digital

electronics devices used in daily life.

5 koD L1t f 48 Szl 14-g & Ju 5730 TS 18- (B)
Carbon-14 has a half life of 5730 years. How long it will take for the quantity of carbon-14 in a sample to drop 1/6

of the initial quantitiy ?
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The formula for the time period of a simple pendulum is. ¢ Uyt (E{.LH&; ol 1

T=2m \F"i (D) T=2=m JE © T=2 J"
m K g
‘The loudness of a sound is most closely related toits =~~~ \'c;-tn{u’f}ukbmwéﬁﬂJﬁfV -2
amplitude 3205 (D)  wavelength #%% (C) period £ (B). frequencyut/) (A)
Sl f sl Bl sl FaEF 3
Which of the following quantity is not changed during refraction of light
its wavelength #9s (D)  its frequency wXAFi (C) its speed Lyl (B) its directionefT (A) |

fr

B) T=2on \ﬁ- A)

Index of refraction of ice is .;.ﬂ);dfu-r.ﬁlfuﬁx -4
_ 1.36° (D) 131 (C)  1.33 (B) 1.00 (A)

A positive electric charge :.,/mt-,;l:;_f/‘gr;_bg g =5
repels other posrtwe charge q.t‘fd:fb;gx.d (8) attract.s other positive charge q..b'fJ’.;( Lok %3 (A)
repels a neutral chargeq.t/d:f{,ubd}x (D) attracts a neutral charge q.t‘fu-{r s JX(C)

-é}.kt:ﬂg}[«:-&)d"!&ivz.ém!_éssfy"iel,}‘,f -6
Why should household appliances be connected in parallel with the voltage source?
to increase the resistance of the circuit 2L band e ()
to decrease the resistance of the circuit 4’.&«’./5;;"};&:// (B)
to provide each appliance the same voltage as the power source ¢£g_,§,,mwmufﬁw (C)
{o provide each appliance the same current as the power source {..J:a. rwfmuiml;fu"]giﬁ
' q.tng”ui)iﬁ/bw?;,b/_ff ¥3A et il a.ﬂ-...-_:‘r nif
' What is the voltage across a G—Q- resistor when 3A of current passes through it
36V (D) 13V (C} 9V (B} 2V(A)
ARSI PRI/ P AP 1 A s 3 A P
If a current in a wire whu.h is placed perpendicular to a magnetic field increases, the force on {he wire
will be zero Jnﬂ (D) remains the same d’nuﬁﬁg(C} decreases Jn[ (B) increases J.Lk (A}
The particies emitted from a hot cathode surface are _wl.l}r‘u:rbxlf»a_ f‘/J}f""f’:p;L.:-‘..l -9
electrons '}:}gl (D} protons x:’a; (C) nega’uve ions ,»-’Ieg (B) positive ions % T.c/.g (A)
1 X=A-B,then Xis '1' when | g X x=A-BA <10

Ais1and Bis 0 (D) = Ais0 andBis 1 (C) AorBis0 (B) AandBare 1 (A) .
_ ?.fr..lruj,/:_u;‘( u’-‘g.v.! fo)kjﬂk/l?‘&?ﬂic):)ﬁ'& g =11
Which is the most suitable means of fast communication between an orbiting satellite and earth?
any light waves J{:..:‘Uu’: JI(D} sound waves Jr£5l- (C) radio waves Jgsg 4 (B) micro waves g A {A)
Hirtie e dielsnuiou Lz 12

When a heavey nucleus splits into two lighter nuclei ,the process would

absorb nuclear energy lfn v&&)b‘:’fi (B) release nuclear energypﬁrbﬁ&)lﬁ'ﬁ (A}
absorb chemical energy J,rr x,.,j.g&)lph?."f (D) release chemical energy JJ‘?@JG[}-)'M(C}
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Q.No.2 Write short answers of any Five of the following 5 x 2= 10 &5z f=liz ey §) e utitn 2 Av
fesl e (SONAR) by (M) -2yl wIFf () _e‘,f-t!;u.»fa- SeSags BSD (1 Ay
L HBIN (N St sy By (2) e e J2 $Hbse (0 2w B T @
(1) Define’ wave motion. (2) Write the names of four examples of electromegnatic waves, {3) State Hooke's law.
{4) What is SONAR? (5) Dofine pitch of sound. (8) What is meant by sound intensity level 7 Write its formula.
(7) What is meant by resolving power? (8) Write uses of compound microscope. )
Q. No. 3 ‘Write short answers of any'; Five of the following = 5x2=10 -é;fal,lgﬂ""&@uir 65 e its 340y
ST A I B LA () S ESIE SR IS e I LGFP O Sty el BFH IO
tkwh=3.6 M) Seak () gl S Ruiiinauy Loty fi £ 1 8L i (0)
PR WL e e SIB S d g S Wne s (W) S W T (&) e EL KL 2553 (D
(1) What is meant by capacitance of a capacitor?
{2) How can you identity conductor and an insolator by using electroscope?
{3) Why dﬁes electric current can not pass through the insulator ?
{4) If a battery ofj'%O volt is connected across the ends of*a resistance of 10 kS~ .Calculate the current pass through it
{5) Praove ‘that 1 kwh = 3.6 MJ , (6) Write down the working principle of a DC motor. (7} State Lenz's law
{g}.State the right hand rule to find the direction of megnetic field produced by a coil due to flow of current.
Q.No.4 Wi'i_te short answers ofany Five of the following 5x2=10 é{j&uz}?[_amy é&.:.,_ﬁ‘f.s@;, 4 )y
| LTSRS () kg el () FEIAREY TR ()
o AT O K Ol umL (cBIS) Foisd )
o Jedimetidad LS80 el AT (0
(1) What is meant by florescent screen? (2) Define NOT gate and draw a symbol of NOT gate.

(3} What is meant by analogue t© digital converior?
(4} Write names of componenis of computer based information syst_err: (CBIS)
(5) Define celi phone. (8) Define the term half life. (7) Write down the two uses of radio isotpes.
(8) Write general equation & an example of alpha decay.
| _ (PART li ) pg3 A
NOTE : Attempt any Two questions from this part 9x2=18 i gy]@ylzﬁaﬁlma{ngz_btym P g
Define mechanical waves and explain its types in detail. 4 _éf.i'ugc.,dc‘%ﬁlgfgml..é.g ﬂf)g,ﬁc (A)-5 A
5 B SxthecArr Sl i E e 5D SUAA L @)

The power of a convex lens is 5D. At what distance the object should be placed from the lens so that its

real and 2 times [arger image is formed?

State Jouls's law and explain it. 4 -éuvi.:u »fzﬁ'uywﬂn’d,z (A)-6 e
el SUienl 2/ LS Boceo?S 0.4 N e pinllosIumety 4&26L Scrn w2Zien (B)
5 & £ &6 2cm wez

Two charges repel each other with a force of 0.1 N when they are .5 cm apart. Find the force between

the same charges when they are 2cm apart. Find the value of each charge.

4 e S Aot K e lon S Se et ()T Ay
What Is NOR gate? Explain it with its symbol , boolean expression and truth table,
5 Wil J1060 - Lo £ Ju 26 £ 5.25.501 60 - 2 H1yts (B)

Cobalt - 60 Is a radio active element with half life of 5.25 years. What fraction of the original sample

will be left after 25 years




